Protein sequences:

>P53 HUMAN Cellular tumor antigen p53 - Healthy Tissue
MEEPQSDPSVEPPLSQETFSDLWKLLPENNVLSPLPSQAMDDLMLSPDDIEQWETEDPGP
DEAPRMPEAAPPVAPAPAAPTPAAPAPAPSWPLSSSVPSQKTYQGSYGFRLGFLHSGTAK
SVTCTYSPALNKMFCQLAKTCPVQLWVDSTPPPGTRVRAMAIYKQSQHMTEVVRRCPHHE
RCSDSDGLAPPQHLIRVEGNLRVEYLDDRNTFRHSVVVPYEPPEVGSDCTTIHYNYMCNS
SCMGGMNRRPILTIITLEDSSGNLLGRNSFEVRVCACPGRDRRTEEENLRKKGEPHHELP
PGSTKRALPNNTSSSPOPKKKPLDGEYFTLQIRGRERFEMFRELNEALELKDAQAGKEPG
GSRAHSSHLKSKKGOSTSRHKKLMFKTEGPDSD

>P53 HUMAN Cellular tumor antigen p53 - Tumor Tissue
MEEPQSDPSVEPPLSQETFSDLWKLLPENNVLSPLPSQAMLDLMLSPDDIEQWETEDPGP
DEAPWMPEAAPPVAPAPAAPTPAAPAPAPSWPLSSSVPSQKTYQGSYGFRLGFLHSGTAK
SVTCTYSPALNKMFCQLAKTCPVQLWVDSTPPPGTRVRAMAIYKQSQHMTEVVRRCPHHE
RCSDSDGLAPPQHLIRVEGNLRVEYLDDRNTEVHSVVVPYEPPEVGSDCTTIHYNYMCNS
SCMGGMNRRPILTIITLEV

Patient HLA typing results:
HLA-A*02:01
HLA-A*68:01
HLA-B*07:02
HLA-B*35:01
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Step 1: Regions identified
>Reg 1

SPLPSQAMLDLMLSPDD

>Reg 2

DPGPDEAPWMPEAAPPV

>Reg 3

YLDDRNTEFVHSVVVPYE

>Reg 4

ILTIITLEV

Step 2: HLA binding predictions, Step

allele seq_num | start | end | peptide method Percentile
rank
| HLA-A%02:01 | 3 1 9 YLDDRNTEV | Consensus 0.2
(ann/comblib sidney2008/smm)
_ 3 8 16 FVHSVVVPY | Consensus 0.2
(ann/comblib sidney2008/smm)
_ 1 1 9 SPLPSQAML | Consensus 0.4
(ann/comblib sidney2008/smm)
HLA-A*02:01 2 9 17 WMPEAAPPV | Consensus 0.4
(ann/comblib sidney2008/smm)
HLA-B*07:02 1 3 11 LPSQAMLDL | Consensus 0.5
(ann/comblib sidney2008/smm)
HLA-A*02:01 4 1 9 ILTIITLEV | Consensus 0.7
(ann/comblib sidney2008/smm)
HLA-B*07:02 2 7 15 APWMPEAAP | Consensus 1.1
(ann/comblib sidney2008/smm)
_ 3 8 16 FVHSVVVPY | Consensus (ann/smm) 2.1




Step 4, wild type peptides

allele seq_num | start | Mut Percentile | Wt peptide | WT Percentile
peptide rank Rank
| HLA-A%02:01 | 3 1 YLDDRNTEV | 0.2 YLDDRNTFR | 2.4
| HLA-B*35:01 | 3 8 FVHSVVVPY | 0.2 FRHSVVVPY | 2.3
| HLA-B*07:02 | 1 1 SPLPSQAML | 0.4 SPLPSQAMD | 16
| HLA-A*68:01 | 3 8 FVHSVVVPY | 2.1 FRHSVVVPY | 53

Step 5, are the mutated peptides encoded in other human proteins?

>1
YLDDRNTFV
>2
FVHSVVVPY
>3
FVHSVVVPY

= All three have top hit in p53 sequence of the human proteome with
8/9 residues matching

Step 6: Probably FVHSVVVPY, Better yet YLDDRNTEFVHSVVVPYE



